theClassroom.co
03330 14 33 55

Surface Fixed

Rainbow Sambas
Page 1of 2

wie

Instrument
Components:

Rainbow
Sambas
arepre-
assembled

Metric Conversion:
80mm/ 3"

100mm/ 4"
230mm/ 9"
300mm/ 12"
400mm/ 16"
450mm/ 18"
1.5m/ 59"

k‘

MADE IN
BRITAIN
BSEN 1176

Installation Instructions

\

———
- -
- -
- ~

g \\
4 230 230 : = N
— \ ‘, 15m A Imm I Imm/;l\ZBOlmrj/Jl 230|m:/ \E 1.5m‘l
1. Assemble fixing brackets \ . _ / /
to base of sambas using N s
M8x25mm security screws T _ =7 [InstallInstrument
andnylocnuts.(1.1)(See | TTe-—o____---77 kil
\Assembly Guide) around it.

\ / / ) . e ™~
2.Arrange Sambasin desired ' Sambas will arrive
location and mark holes to fix onsiteinpreset
to desired surface. heights.

N Y : /
. . N
3. Fix to Surface using
recommended ground
anchors (Ground Anchors are
not supplied)
) e
4. Make sure all fixings are o ¥ O
Ql-l) i, covered and secure using Ground Surface = M /=N |
cover caps provided
Weight of heaviest part 14.6kg (XL Samba)
k Ground Fix ’ S A 7 @@ 17 T34 47 Kg
Components: 2 Part M12
Played with hands M8x25 Security Screw L Brackets M8 Nyloc Nut

Cover Cap



theClassroom.co

03330 14 33 55 ASS@mbly Guide PPRASA

Tools:
Thread Lock Solution o 'Xl "
Required (Not Supplied) river Bi

Surface Fixed

Rainbow Sambas
Page 2 of 2

Wiy

[nstrument PPRASA PLAN
Components:

COMPONENTS LIST:
Rainbow
Sambas
are pre_ — M8x25 Pin torx X34
assembled L

Surface Fix L Bracket X17

= M12 2 Part black cap X17

a M8 Nyloc nut X34

Thread Lock Solution
Required (Not Supplied)

\

Al

MADE IN
BRITAIN
BSEN 1176

k ﬁ Ground Fix , x34 A x17 & @ x17 ® x4 47 Kg

Components:

. ’ 2 PartM12

Played with hands M8x25 Security Screw L Brackets M8 Nyloc Nut
Cover Cap




